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PHYSICS HSSC-II
SECTION - A (Marks 17)

Time allowed: 25 Minutes

NOTE:- Section-A is compulsory and comprises pages 1-2. All parts of this section are to be answered
on the question paper itself. It should be completed in the first 25 minutes and handed over to the
Centre Superintendent. Deleting/overwriting is not allowed. Do not use Iez@cil.

A d

Q.1 Insert the correct option i.e. A/ B/ C /D in the empty box provided oppt@\
each part. Each part carries one mark. ()

(1) The copying process is called: *

A Xerography %phy E
[ ]

C. Neutrography 9 ctroscopy
(ii) When air is used as dielectric between the plateg o allel plate

capacitor then its capacitance is:
Ag
A. —4 Q B. —

d Agn
c & * ¥ 2
Ag, Ae,d
(i) The terminal potential differ. a cell is given by: :'
E
A V = ——o B. V,=E-IR

! R + r\\
D. None of these

(iv) In S7 un of u, is: l:l
Q\( 0" WbA'm™
B. 7 x107 WhA™' m

G. 4 x10" WbAm™
D. 4z %107 WbA 'm™!

(v) The e/m of an electron moving with the speed along a circular path \j
in a magnetic field is given as:
e BR e E
A, — = B. —=—
m E m B°R
e K e ER
C. S D. i
m °R m B
(vi)  The principle of electric generator depends upon: D
A Lenz's law B. Faraday’s law

c: Coulomb’s law D. Ohm's law




(vii) The current passing through a choke coil of 5H is decreased at the
rate of 2 4/ s, the induced e.m.f. in the coil is:

A 2.5 B ~2.5V
C. 10V D —10¥V

(vii)  Whnen X, = X . this condition is called:

A Balanced B Equality

C. Resonance D All of these
(ix) The process of combining low frequency signal with a high frequency

radio wave is called:

A. Demodulation B. Modulation

C. Resonance D. Impedance
(x) The substances in which magnetic fields produced by orbital and

spin molecules of the electron add up to zero are called:

A. Ferromagnetic B Diamagnetic

C. Paramagnetic D None of these
(xi) A trivalent impurity is usually called:

A Acceptor B Donor

C. Rectifier D Transistor
(xii) Which of the following is NOT basic operation of Boolean variables?

A YES operation B NOT operation

C. AND operation D OR operation
(xii) A forward biased p-n junction practically offers:

A. Zero resistance B Very low resistance

C. Very high resistance D None of these

(xiv) The existence of positron was discovered in the:

A Thermal radiation

B. Cosmic radiation

C. Electromagnetic radiation

D. Non-electromagnetic radiation

(xv) When x-rays are passed through successive aluminum sheets, their hardness

A. Decreases B. Increases
C. Remains same D None of these

(xvi)  The energy equivalent to one atomic mass unit is
A. 1.6x107"7.J B. 6.02x107"J
C. 931 MeV D) 9.31 Mel
(xvil)  The solar energy is mainly due to:

A. Fission B Fusion
C. Pair production D All of these




SECTION — B (Marks 42)

Q.2 Attempt any FOURTEEN parts. The answer to each part should not exceed
3todlines. (14x3=42)

(1) The potential is constant throughout a given region of space. Is the
electrical field zero or no-zero in this region? Explain.

(1) Is it true that Gauss’s law states that the total number of lines of forces
crossing any closed surface in the outward direction is proportional to the
net positive charge enclosed within surface?

(i) A potential difference is applied across the ends of a copper wire.
What is the effect on the drift velocity of free electron by:
a. Increasing the potential difference.
b. Decreasing the length and the temperature of the wire.

(iv)  Is the filament resistance lower or higher in 500, 220F light bulb than
ina 100, 220V bulb?

(V) A plane conducting loop is located in a uniform magnetic field that is
directed along the x-axis. For what orientation of the loop is the flux a
maximum? For what orientation is the flux a minimum?

(vi)  If a charged particle moves in a straight line through some region of space,
can you say that the magnetic field in the region is zero.

(vii)  Show that & and %ﬂ have the same units.
t

(viii)  When the primary coil of a transformer is connected to A.C mains the
current in it:
a. Is very small if the secondary circuit is open, but
b. Increases when the secondary circuit is closed. Explain these facts.

(ix) Name the device that will (a) permit flow of direct current but oppose the
flow of alternating current (b) permit flow of alternating current but not the

direct current.
(x) What is meant by A.M and F.M?

(xi)  What is meant by hysteresis loss? How is it used in the construction
of a transformer?

(xii)  What is the effect of forward and reverse biasing of a diode on the width
of depletion region?









